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General Instructions :

—_

. Candidate must write his/her Roll Number on the first page of the Question Paper Booklet.

2. Please check the Question Paper Booklet to verify that the total pages of the booklet and the total
pages printed on the top of the first page tallies each other.Also check to see that the questions are in
sequential order.

w

. Making any identification mark in the answer-book of writing roll number anywhere other than the
specified places will lead to disqualification of theé.candidate.

. Write your Question Paper Booklet Code No: 53/HIS/1, Set [A] on the answer-book.

(G2

. () The Question Paper Booklet is in English/Hindi medium only. However, if you wish, you can
answer in any one of the languages.listed below :
English, Hindi, Urdu, Punjabi, Bengali, Tamil, Malayalam, Kannada, Telugu, Marathi,
Oriya, Gujarati, Konkani; Manipuri, Assamese, Nepali, Kashmiri, Sanskrit and Sindhi.

You are required to indicate the language you have chosen to answer in the box provided in the
answer-book.

(b) If you choose to write the answer in the language other than Hindi and English, the
responsibility for any errors/mistakes in understanding the question will be yours only.
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Important Instructions

1. This Question Paper Booklet contains two Question Papers—one based
on revised study material marked as NEW SYLLABUS and the other
based on pre-revised study material marked as OLD SYLLABUS.

2. NEW SYLLABUS is compulsory for those who have registered for 2015-16
(Block-I and Block-1l) admission and Stream-II of 2016 admission.
(Those who are appearing in September-November, 2016 under
NEwW SYLLABUS.)

3. OLD SYLLABUS is compulsory for those candidates who had registered
before 2015-16 (Block-I) admission.

4. Candidates are to answer only one Question Paper from the given two
Question Papers.

5. Candidates are not allowed to mix questions from the two given
Question Papers.

Hewui fdw

1. 39 IH-9F Ifedent | 31 T9-U9 §—Uoh GRNfed 3198 amul W egiia & ™ ®
TAT TSR AfRd ¥ AT TN TINEH ¥ 9 AeeH @i W oemdnia g e W
QAT UTSTeRT 3fRd 2

2. AT UTSAHH 37 Fienffan & forw 37faard & fomar Fmied 2015-16 (sl
3R sAleh-11) TT IMEI-I, 2016 H 33T &1 (3% [o78 ST fHarsi-Aarsw, 2016 H
U UTSAHH 3 37qfd gdien § 934 57 @ 21)

3. YT UTSSIeRy 3 Wentai o fore erframd @ et amee 2015-16 (scte-1)
* U8 BT 2
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NEW

This Question Paper contains 32 questions.
T Y-UF % F=id 32 TH B

ECONOMICS
I
(318)
Time : 3 Hours | [ Maximum Marks : 100
au ;3 "0 | [ qUTiek : 100
Note : (i)  All questions are compulsory.

(i) Marks allotted to each question are indicated against it.

(ii) Each question from Question Nos. 1 to 10 has four.alternatives—(4A), (B), (C)
and (D), out of which one is most appropriate. Select the correct answer
among the four alternatives and write it-in’your answer-book against
the number of the question. No extra.time is allotted for attempting
multiple-choice questions.

fewr: () &t v & 3w sy
(i) TcIF T & A Uk i ford T By
(i) YW SN 1 ¥ 10 T & YIHTA § =R fFwmea—(=F), (@), (1) a1 (9) 2, o |
T IuTh B | AR frehodt ¥ WHE I g qoT A0 IT-YEdent § U T % Wi 3w
o | ag-faeredt st o o sifafes wwe == foan Stam)

1. The sum of deviations of the individual data elements from their mean is
(A) always greater than zero
(B) always less than zero

(C) sometimes greater than and sometimes less than zero depending on the
data elements

(D) always equal to zero 1

hTa At § A 9 fomeE oA

(%) ¥eF A ¥ ARTF 2ar 2

(@) ©ed I ¥ *9 e 8

(1) I @ wft fees 3R wft #9 T B, Iw uueh qwi | R e 2

(A T T BT ©
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2. Price of a commodity falls from ¥ 15 per unit to ¥ 10 per unit but there is
no change in its quantity demanded. Its demand is

(A) perfectly inelastic
(B) perfectly elastic
(C) unit elastic

(D) more than unit elastic 1

T g hl hHd €15 Ufd RS | A B € 10 Uid IS @ STAl ® O gEehl A S
W H S e JE Ear 81 3wkl Wi g

() oicen s
(@) oidar eer
(1) THE & R AER
(") THE ¥ AYF AEER

3. Which one of the following factors is variable in the law of supply relating
to a commodity?

(A) Prices of inputs used in production of-the commodity

(B) Prices of other goods

(C) Price of the commodity

(D) Technology of production 1

U a%g il (A - M # FEfafad @ 8 wF-w e aiadeia g 7
(%) TG % 3IcaaT H TAN I S Tt TG

(@) = Fwged H Fiud

(1) =g

(F)  Icdred Sl qeAlR

4. What is the price elasticity of supply if the straight line supply curve cuts
price axis (Y-axis) at a point above the point of origin?

(A) Less than unit elastic
(B) More than unit elastic

(C) Unit elastic

(D) Perfectly inelastic 1
www.FirstRanker.com
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afe Hieft T S 9o, Fma A& (Y-318) H qAteg o FW el forg W Frean B, @ mgfd
i fiwa = @ 2t

(%) 3THE W FH &R
(@) 3THE U AUF A=ER
() 3THE & TAH AEER

() quidEn s

5. Which one of the following is related to the flow concept?
(A) Money supply
(B) Population
(C) Population growth
(D) Wealth 1

frefafiga 4 @S- var il FEuEen 9 getid 27
() &

(@) SEE

() e iy

(71) Tt

6. Which one of the following is a final good?
(A) A machine purchased by a wholesaler
(B) Electricity used in a factory
(C) Wheat purchased by a retailer

(D) Machine purchased for use in a factory 1

Freferfid & @ FA-eh e T 37
(%) o fogkar g0 @l T uE Wi

(@) wREE § Y H SH areft et
(7) geu fashdr g %A TR T TR
(F) HR@H § JE gq SliE T A

7. Gross value added at market price equals
(A) Value of output — Intermediate consumption
(B) Value of output + Intermediate consumption
(C) Value of output — Intermediate consumption — Depreciation

(D) Value of output — Intermediate consumption — Depreciation — Net indirect

taxes 1
www.FirstRanker.com
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IR FHd T Gohel Goadis, =R 2l &
() IcAEA H Hed — WA IUFHT
(@) IS A Hod + TeFad ITH
(T1) IS 1 oI — WeFad] UM — YoIgE

(9) 3 H qed — HeFEd! YA — HeAgW — e Tueas -

8. Value of investment multiplier is

Change in investment

(A) —
Change in income

(®) :

1- Marginal propensity to save
©) 1

Marginal propensity to consume
(D) 1

1- Marginal propensity to consume
3391 oI 1 ged 2ar @
() i

I H ufEdd

1

(=) 1- " a=a vgd
1

(m a3 vgh

o 1

() e

9. Which one of the following is not an instrument of fiscal policy?
(A) Taxation
(B) Variable reserve ratio

(C) Public expenditure

www.FirstRanker.com

(D) Public borrowing
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freferfiaa 8 @ SH-w1 geen fifd o Sy T8 27

(®) HUUE

(@) uiadRie ST 3TgdT

() wESHE =
(F) WSS

Income (Tin crore)

0

500
1,000
1,500
2,000

(A) T500 crore
(B) 1,000 crore
(C) 1,500 crore
(D) 2,000 crore

10. Find out the break-even point in the schedule given below :

Consumption (¥in crore)

500
750
1,000
1,250
1,500

Frfafea sgget § g fomg & 3@ & T & J@ AT

37 (T e o)

0
500
1,000
1,500
2,000
(%) 500 HIg
(@) 1,000 FIg
(M) 1,500 g
(T—E25006—F%S

39T (¥ FUS H)

500
750
1,000
1,250
1,500
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11. Calculate median from the following frequency distribution : 3
Marks : 10 20 30 40 50 60 70 80

Number of students : 2 8 16 26 20 16 7 4
frefafad smafa faawor @ miferem & o fifsm

h : 10 20 30 40 50 60 70 80
Bl # e 2 8 16 26 20 16 7 4
12. What is meant by positive economics? Give two examples of positive economics. 3

ARfees AU | 7 MU 87 ardfash 3103 % ar 3SR S|

13. Price of a commodity falls from ¥ 10 per unit to ¥ 8 per unit and as a result
its demand rises from 40 units to 50 units. Calculate the price elasticity of
demand of the commodity. 3

Th aEg S hiEd $10 U THE U HH B @ 8-Ufd R @ Wil @ 3fi uRurmesy
T AT 40 THE W @R 50 ITHE @ W A H A A fiwd a fomoE
hifere |

14. How is the supply of a commodity affected by increase in price of other goods?
Explain. 3

et agg i ogfd = wiget ft Fua d Ifg W wW TR R uwfda A RY
REEIEY

15. At a given level of output, marginal cost and marginal revenue of a firm are
equal. Is the firm necessarily in equilibrium? Explain. 3

3Iqed o forel fou o T W TRt wd fi dima A den e s "W e 2
F HH AR W Hgod H 87 GHEST|

16. Explain ‘real flow’ and ‘money flow’ of income in a two-sector economy. 3

LG It 1 s D o S ) e e 1 3 e e 2 | o | A | R 1| 1= o P ks b= 2 e
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17. Calculate ‘net value added at factor cost’ from the data given below : 3
¥ (in lakh)
() Change in stock 600
(ii) Intermediate consumption expenditure 10,000
(i) Sales 20,000
(iv) Indirect taxes 500
(v) Subsidies 100
(vi) Depreciation 300

Ffcfiga stferel @ e @ ® aa qeaghy’ & o SNy

¢ (am@ )
(i) T ° uiEd 600
(ii)  HeAEdl 39T =™ 10,000
(iii) o 20,000
(iv) FATAG-F 500
(v) TdH 3TEH 100
(i) HoIEE 300

18. What is meant by marginal propensity to consume? State any four factors that
determine the marginal propensity to consume in an economy. 3

g 3udm vafn @ w®n Ay 27 WM wR @R w1 3gm dife, s feR
sreferraen # Hiwra 3w g fRuion @ 2

19. What are meant by revenue receipts and capital receipts in a government
budget? Give one example of each. 3

THR & aole B qoed Wil qon defira wified @ @ aifiue 27 e 1 U See
it

20. The following hypothetical data relate to the government budget :

¥ (in arab)
(i) Borrowings 15
(ii) Revenue receipts 100
(iii) Revenue expenditure 130
(iv) Interest payments S
(v) Capital receipts 90
Calculate the (a] revenue deficit, (b] fiscal deficit, and (c] primary deficit. S

www.FirstRanker.com
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ffaRaa Freufh 3Tihs TN % a9 § Haled ©

¢ (3na #)
(i) O 15
(ii) T e 100
(iii) TS =39 130
(iv) =N A= 5
(v)  dsTa e 90
() ToEd =1eT, (W) TSRS =912 a9n (1) metHes =mer i e Fifs)
21. Explain the steps involved in the calculation of mean deviation. 4
e foee™ &1 TUET R § Y SO Sl GHEsy |
22. Why do economic problems arise? Explain. 4

aifdfer = = Icae Bl 27 gHeEy|

23. Describe the effect of increase in prices. of related goods on the demand of
a commodity. 4

Toret aeg <1 AT W Gala Segati hshimdl § ghg ok TWE 1 avie it |
24. Suppose that total fixed cost is ¥ 120. Find out total variable cost and marginal
cost at each level of output from the following data : 4

Output (in units) o1 2 3 4

Average total cost (in ¥) : 240 160 140 160

74 g fF g1 for @mma €120 21 fefafad stisel @ 3o % Tois 'R W Fd
el ATd qen HiHed amra sl T i

3e91e (3TEAl H) :o1 2 3 4
sgd g arma (FH)  : 240 160 140 160

www.FirstRanker.com

318/ HIS/110A 10



:l » FirstRanker.com

A Firstranker's choice ) .
www.FirstRanker.com www.FirstRanker.com

25. What happens when there is (a) excess demand, and (b) excess supply of

a commodity in a market? Explain. 4
S GNR § UH a%g A (F) WO AR IR (W) Ufd o i feufa @, @ w0
BT 27 ||

26. Give the meaning of the following : 4

(a) Bank rate

(h) Open market operations
Fafataq & 319 sarEu .

(®) & R

(@) Gl IR A A

27. What are index numbers? State any four uses of index'numbers. 6

Yahish 1 2Id 87 AHIh! % HIs WR IWAN Ty |

28. Using ‘assumed mean method’, calculate: Karl Pearson’s coefficient of
correlation from the following data : 6

Price (in ¥) . 20 40 60 80 100 120 140
Supply (in kg) : 400 200° 500 1000 400 1100 1200

‘Ficyd mem fafy’ 1 T wd gu HEaiad ARl e TR % Geeed e ol
o iR
#Fma (¥ ¥) : 20 40 60 80 100 120 140
argfd (fFo Mo #) : 400 200 500 1000 400 1100 1200

29. Explain the following properties of indifference curves : 6
(a) Convex to origin
(b) Slopes downwards from left to right
s TF % Frefafad R # e
(%) TG I AR IFAR

(€ DI L L | B 1 [
www.FirstRanker.com
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30. State and explain the ‘law of variable proportions’ in the context of total product
and marginal product. Use diagram to explain. 6

‘qitadt srgumal & e @ Ig@ AT du T Icue IR W I % wed # o
T YA e gEh] AR iU

( For Blind Candidates only in lieu of Q. No. 30 )

( e giEa vdenieft & fore uva dwen 30 & T W)

What is production function? State and explain the law of variable proportions
in the context of total product and marginal product. 6

3UTE Held ° F® AN 27 uREadt srgural o e @ 3gm IS du Fa IAE 3T
i Icae & Ted T SHEH T FHifg |

31. Calculate (a) national income, and (b) private<income from the data given

below : 6
¥ (in crore)
(i) Consumption of fixed capital 100
(ii) Compensation of employees 700

(i) Income from property and entrepreneurship

accruing to government 40
(iv) Savings of non-departmental enterprises 60
(v) National debt interest 10
(vi) Rent 250
(vii) Interest 200
(viii) Net factor income from abroad 10
(ix) Profit 150
(x) Mixed income of self-employed 400
(xi) Net current transfers from government 30
(xi) Net current transfers from rest of the world 20
(xui) Net indirect taxes 1510)

www.FirstRanker.com
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Frfafaa et @ (%) Tdia o qon (@) i oma §i o i -

¢ (w0 )
(i) T Ut T U 100
(ii)  wEE o urieafies 700
(i) THR B GUf SR ITAAdT § B Sl A= 40
(iv) R-faarf JeEt S s=a 60
(v) TEH FRI RS 10
(i) T (fRemE) 250
(vit) =S 200
(viii) foeen & g fae weE A 10
(ix) <9 150
(x) wfEfEt e e 400
(xi) TR T fHae o] gEdia 30
(xii) 9 fova @ fraet =T s 20
(xiii) TEa TITE-a 50
32. Explain the following functions of money-with examples : 6

() Medium of exchange

(b) Measure of value
Hg1 & ffefaa @l =l 3T afed auesy
(%) fafma =1 mem

(@) ¥cd 1 HI9H
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OLD

This Question Paper contains 23 questions.
T Y-UF % F=id 23 TH B

ECONOMICS
3refeTe
(318)
Time : 3 Hours | [ Maximum Marks : 100
au ;3 "0 | [ qUTiek : 100
Note : (i) This Question Paper consists of two Sections, viz., ‘A’ and ‘B’.

(i) Al questions from Section ‘A’ are to be attempted.

(ii) Section ‘B’ has got more than one option. Candidates are required to
attempt questions from one option only.

FMEwr: () 39 T9-99 4 S @S §—EUe 3 a°q @S o |
(i) w@vg ‘e & At G I A BT B
(i) @ve ‘o § Uk @ Al fashed B vl Faa v fremew & @ 9w F 3w A 2

SECTION-A
Ques-A
1. Define consumption. 2
39T Shl it AR
2. What is meant by disinvestment? 2
fafeer @ 2 27
3. Give two examples each of consumer durable and producer durable goods. 2

LR R el i s O 2 1 Rl | . 2 2 B e A B RAUU IS L

www.FirstRanker.com
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4. Define economic growth. 2
amfefer wafy & aftumn €
5. Define statistics in singular sense. 2
Tshd=d & &9 § EIETehl sl aiymar 2|

6. State any two precautions that are taken while calculating national income
by income method. 2

o fafr g afie e @ aftehe Rd THT St ST aTelt ig g1 HEeTtRT SdaTse |

7. State any two uses of national income estimates: 2

TS 3™ & AT o Dl & ITAN FamEy |

8. Give two examples each of factor income and non-factor income. 2

I A TR R-|1eE 3T & Si-]1 380 i |

9. The marginal revenue of selling one unit of output is ¥ 80 and when two units
are sold the marginal revenue is ¥ 70. At what price are two units sold? 2

3IcaTed hl Teh RS o T HIH APH €80 B I e < T =l Sl & d i
ATH 70 2| THH T ThEAT T hiAd 9 A= ME?

10. Is India a developing economy? Give four reasons in support of your answer. S

T NI U [IRRieT ST &7 ST 390 & OHYT H o S0 S|

www.FirstRanker.com
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11. Prepare a ‘less than’ cumulative frequency distribution from the following

frequency distribution : 5
ffafaa smafa famw & s @ =9 g==ft iy faawn sAwu .
Class Frequency
El CICIE]
10-20 12
20-30 20
30-40 18
40-50 10
50-60 5
12. Describe the role of ‘bank rate’ in regulating money supply. S
HEM(d o FEE0 § e G Sl fHeRT 1 FUH i |
13. Calculate net value added at market price.from the following data : S

¥ (in crore)

(i) Opening stock 20
(i) Sales 600
(iii) Intermediate consumption expenditure 350
(iv) Depreciation 50
(v) Closing stock 30
(vi) Net indirect taxes 60
(vii) Interest 40
fafafaa sfwet @ 9w 0o | oo gogfs &1 oo fifsm -
¢ (s H)
(i) YR wiw 20
(ii) Toh 600
(iii) TS IUAT =T 350
(iv) TIg™ 50
(v) Af<m wi* 30
i) Faa AuEg-a 60
(vi) AN 40
www.FirstRanker.com
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14. State any five functions of the Planning Commission. S
AISHT RN & 5 Ui ®E Jarsu |
15. Complete the following table : S

fefafga aiferent =1 9 ifvT

Output (in units)

IeqTe (3Tl H)
Total cost
12 22 | 26 | 32 | 46

T Arid

Total variable cost

Pl e T I e

16. Calculate national income from the following data S
¥ (in crore)

(i) Compensation of employees 2,000
(i) Rent 200
(iii) Interest 400
(iv) Depreciation 100
(v)  Profit 1,000
(vi) Net factor income from+abroad 50
(vii) Mixed income of self-employed 5,000
(viii) Net indirect taxes 700

Frfafaa el @ T @ 1 giehen FifGT -

¥ (Fe W)
(i) U= T uTiefie 2,000
(ii) Tertren 200
(iti) <A 400
(iv) HeIg™ 100
(v) <™ 1,000
i) foeen & faa wem am 50
(vii) EEFEISal R Wi s 5,000
(vur) T ATTE-hL 700

www.FirstRanker.com
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17. Explain the reasons for the inverse relationship between price and quantity
demanded of a commodity. 8

&g H FHa AR wT-AEn ° fawlia ey o wron it @men i

18. Explain four main causes of economic crisis of 1991. 8

1991 % (e Tehe o TR Y& HRUN hl ATEAT HifST |

19. Calculate arithmetic mean from the following data by step deviation method : 8

e fomem fafa g Fafafaa Afewet @ i area @1 afteem fifs .

Marks Number of students

3Tk Trenfea it v
0-20 20
20-40 40
40-60 30
60-80 10
20. Explain the sources of receipts in.the government budget. 8

TR o oS¢ H UIHAT o Eidl hl SR shifsa |

www.FirstRanker.com
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SECTION-B
Qus—d
OPTION-I
faehea—1
( Role of Agriculture and Industry in India’s Economic Development )

( 9a o st foemma ® Hiw 3R e < it )

21. State two problems created by subdivision and fragmentation of landholdings. 2

Sl o JUfIAE 3R TEeT ¥ g diell &t JHE oqisy |

22. How does industrial sector help in increasing irrigation facilities? Explain. S

=g gfawnstt 1 se # ofenfie & g g weme 27 THEey|

23. Explain four points of importance of small-scale industries in Indian economy. 8

IRA 1feaeen # @Y A ok Wew & °R fagen i smen fifvm)

OPTION-II
ferea—11

( Population and Economic Development )

( SEEET 3R et foerma )

21. What is meant by life expectancy? 2
Sfte e @ 37

22. Explain the role of education in containing population. S

SHEE ghs i sk § e 6 offient & 2men S|

23. Explain the effects of high growth rate of population on environment and
forests. 8

SHEEAT H el e T R THEOT IR FH W W9 i R it |

* * k
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